

## On Lukasiewicz's intuitionistic fuzzy disjunction and conjunction

Krassimir Atanassov<sup>1</sup> and Radoslav Tsvetkov<sup>2</sup>

<sup>1</sup> Centre of Biomedical Engineering  
Bulgarian Academy of Sciences  
105 Acad. G. Bonchev Str., 1113 Sofia, Bulgaria,  
e-mail: *krat@bas.bg*

<sup>2</sup> Technical University of Sofia  
8, Kliment Ohridski Boul., Sofia, Bulgaria  
e-mail: *tzv@tu-sofia.bg*

### 1. Introduction

In [8] 10 different fuzzy implications are discussed. Having in mind that in the classical logic the equality

$$x \vee y = \neg x \rightarrow y, \quad (1)$$

where  $x$  and  $y$  are logical variables,  $\vee$  - disjunction,  $\rightarrow$  - implication and  $\neg$  - negation, we see that for any implication we can construct a disjunction and after this, using De Morgan's laws - a conjunction. we will discuss a new form of a disjunction in the case of Intuitionistic Fuzzy Sets (IFSs; see [3]).

### 2. Definition and algebraic properties of Lukasiewicz's intuitionistic fuzzy disjunction and conjunction

The intuitionistic fuzzy propositional calculus has been introduced more than 20 years ago (see, e.g., [1, 3]). In it, if  $x$  is a variable then its truth-value is represented by the ordered couple

$$V(x) = \langle a, b \rangle,$$

so that  $a, b, a + b \in [0, 1]$ , where  $a$  and  $b$  are the degrees of validity and of non-validity of  $x$  and there the following definitions are given.

Below we shall assume that for the two variables  $x$  and  $y$  the equalities:  $V(x) = \langle a, b \rangle, V(y) = \langle c, d \rangle$  ( $a, b, c, d, a + b, c + d \in [0, 1]$ ) hold.

For two variables  $x$  and  $y$  operations "conjunction"( $\&$ ), "disjunction"( $\vee$ ), "implication"( $\rightarrow$ ), and "(standard) negation"( $\neg$ ) are defined by:

$$V(x\&y) = \langle \min(a, c), \max(b, d) \rangle,$$

$$V(x \vee y) = \langle \max(a, c), \min(b, d) \rangle.$$

In [4] the following two operations, which are analogues to operations "conjunction" and "disjunction" are defined

$$V(x + y) = \langle a, b \rangle + \langle c, d \rangle = \langle a + c - ac, bd \rangle,$$

$$V(x \cdot y) = \langle a, b \rangle \cdot \langle c, d \rangle = \langle ac, b + d - bd \rangle.$$

The two standard modal operators (see [7]) have the following intuitionistic fuzzy estimations (see [2]).

$$V(\Box p) = \Box V(p) = \langle \mu(p), 1 - \mu(p) \rangle,$$

$$V(\Diamond p) = \Diamond V(p) = \langle 1 - \nu(p), \nu(p) \rangle.$$

During the last 20 years intuitionistic fuzzy predicative, intuitionistic fuzzy modal and intuitionistic fuzzy temporal logics were developed. They will be objects of future research.

Now, using (1) and intuitionistic fuzzy form of Lukasiewicz's implication (see [5, 6])

$$V(x \rightarrow_L y) = \langle a, b \rangle \rightarrow_L \langle c, d \rangle = \langle \min(1, b + c), \max(0, a + d - 1) \rangle,$$

we will introduce a disjunction with the following form of its estimation

$$V(x \vee_L y) = \langle a, b \rangle \vee_L \langle c, d \rangle = \langle \min(1, a + c), \max(0, b + d - 1) \rangle.$$

We will call the new disjunction "*Lukasiewicz's intuitionistic fuzzy disjunction*".

We see also, that

$$\begin{aligned} V(x \rightarrow'_L y) &= \neg \langle a, b \rangle \vee_L \langle c, d \rangle \\ &= \langle b, a \rangle \vee_L \langle c, d \rangle = \langle \min(1, a + c), \max(0, b + d - 1) \rangle = V(x \rightarrow_L y), \end{aligned}$$

i.e., the implication generates a disjunction that generates the initial implication.

In this first part of our research, we will suppose that De Morgan's laws are valid, i.e.,

$$x \& y = \neg(\neg x \vee \neg y). \quad (2)$$

We must note immediately, that in IFS theory there are a lot of examples in which (2) is not valid, but this will be object of discussions in future research.

Therefore, using (2) and definition of  $\vee_L$ , we can construct

$$V(x \wedge_L y) = \langle a, b \rangle \wedge_L \langle c, d \rangle = \langle \max(0, a + c - 1), \min(1, b + d) \rangle.$$

We will call the new conjunction "*Lukasiewicz's intuitionistic fuzzy conjunction*".

For both new operations, having in mind that  $\wedge_L$  is obtained from  $\vee_L$  by (2), we will check firstly that

$$\begin{aligned} &V(\neg(\neg x \wedge_L \neg y)) \\ &= \neg(\neg \langle a, b \rangle \wedge_L \neg \langle c, d \rangle) \end{aligned}$$

$$\begin{aligned}
&= \neg(\langle b, a \rangle \wedge_L \langle d, c \rangle) \\
&= \neg(\max(0, b + d - 1), \min(1, a + c)) \\
&= \langle \min(1, a + c), \max(0, b + d - 1) \rangle \\
&V(x \vee_L y).
\end{aligned}$$

Therefore, both operations are correctly defined one about the other.

We can check immediately the validity of

**Theorem 1** The following equalities are valid:

- (a)  $V(x \wedge_L y) = V(x \wedge_L y)$ ,
- (b)  $V(x \vee_L y) = V(x \vee_L y)$ ,
- (c)  $V((x \wedge_L y) \wedge_L z) = x \wedge_L (y \wedge_L z)$ ,
- (d)  $V((x \vee_L y) \vee_L z) = x \vee_L (y \vee_L z)$ .

**Proof.** (d) Let  $x, y$  and  $z$  are three variables. Then

$$\begin{aligned}
&V((x \vee_L y) \vee_L z) \\
&= (\langle a, b \rangle \vee_L \langle c, d \rangle) \vee_L \langle e, f \rangle \\
&= \langle \min(1, a + c), \max(0, b + d - 1) \rangle \vee_L \langle e, f \rangle \\
&= \langle \min(1, \min(1, a + c) + e), \max(0, \max(0, b + d - 1) + f - 1) \rangle \\
&= \langle \min(1, 1 + e, a + c + e), \max(0, f - 1, b + d + f - 2) \rangle \\
&= \langle \min(1, a + c + e), \max(0, b + d + f - 2) \rangle
\end{aligned}$$

(because  $1 + e \geq 1$ ,  $f - 1 \leq 0$ ,  $1 + a \geq 1$  and  $b - 1 \leq 0$ )

$$\begin{aligned}
&= \langle \min(1, 1 + a, a + c + e), \max(0, b - 1, b + d + f - 2) \rangle \\
&= \langle \min(1, a + \min(1, c + e)), \max(0, b + \max(0, d + f - 1) - 1) \rangle \\
&= \langle a, b \rangle \vee_L \langle \min(1, c + e), \max(0, d + f - 1) \rangle \\
&= \langle a, b \rangle \vee_L (\langle c, d \rangle \vee_L \langle e, f \rangle) \\
&= V(x \vee_L (y \vee_L z)).
\end{aligned}$$

In similar way we can prove the other equalities and

**Theorem 2** Operations  $\vee_L$  and  $\wedge_L$  are distributive one in respect to the other.

**Theorem 3** The following properties are valid:

- (a)  $(x \& y) \wedge_L z = (x \wedge_L z) \& (y \wedge_L z)$ ,
- (b)  $(x \vee y) \vee_L z = (x \vee_L z) \vee (y \vee_L z)$ .

**Theorem 4** The following properties are valid:

- (a)  $V(\Box(x \vee_L y)) = V(\Box x \vee_L \Box y)$ ,

- (b)  $V(\Box(x \wedge_L y)) = V(\Box x \wedge_L \Box y)$ ,
- (c)  $V(\Diamond(x \vee_L y)) = V(\Diamond x \vee_L \Diamond y)$ ,
- (d)  $V(\Diamond(x \wedge_L y)) = V(\Diamond x \wedge_L \Diamond y)$ .

**Proof.** (a) Let  $x$  and  $y$  are two variables. Then

$$\begin{aligned}
V(\Box(x \vee_L y)) &= \langle a, b \rangle \vee_L \langle c, d \rangle \\
&= \Box \langle \min(1, a + c), \max(0, b + d - 1) \rangle \\
&= \langle \min(1, a + c), 1 - \min(1, a + c) \rangle \\
&= \langle \min(1, a + c), \max(0, 1 - a - c) \rangle \\
&= \langle \min(1, a + c), \max(0, (1 - a) + (1 - c) - 1) \rangle \\
&= \Box \langle a, 1 - a \rangle \vee_L \langle c, 1 - c \rangle \\
&= V(\Box x \vee \Box y).
\end{aligned}$$

## Acknowledgement

The first author is grateful for the support provided by the projects DID-02-29 "Modelling processes with fixed development rules" and BIn-2/09 "Design and development of intuitionistic fuzzy logic tools in information technologies" funded by the National Science Fund, Bulgarian Ministry of Education, Youth.

## References

- [1] Atanassov, K. Two variants of intuitionistic fuzzy propositional calculus. Preprint IM-MFAIS-5-88, Sofia, 1988.
- [2] Atanassov K., Two variants of intuitionistic fuzzy modal logic Preprint IM-MFAIS-3-89, Sofia, 1989.
- [3] Atanassov, K. Intuitionistic Fuzzy Sets, Springer Physica-Verlag, Heidelberg, 1999.
- [4] Atanassov, K. Remarks on the conjunctions, disjunctions and implications of the intuitionistic fuzzy logic Int. J. of Uncertainty, Fuzziness and Knowledge-Based Systems Vol. 9, 2001, No. 1, 55-65.
- [5] Atanassov, K. Intuitionistic fuzzy implications and Modus Ponens, Notes on Intuitionistic Fuzzy Sets, Vol. 11, 2005, No. 1, 1-5.  
<http://ifigenia.org/wiki/issue:nifs/11/1/01-05>

- [6] Atanassov, K., On some intuitionistic fuzzy implications. *Comptes Rendus de l'Academie bulgare des Sciences*, Tome 59, 2006, No. 1, 19-24.
- [7] Feys, R., *Modal logics*, Gauthier, Paris, 1965.
- [8] Klir, G., B. Yuan, *Fuzzy Sets and Fuzzy Logic*. Prentice Hall, New Jersey, 1995.